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BECTION = IV / w171 - IV

ENVIRONMENTAL STUDIES / Tofaor symyags
There are 30 questions in all in this Section. All questions are compulsory,
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121. The example of an ccosystem ig

() air (B] pond IC)  water D} soil,
wifeafirsl 12 = wwEm
A &g B ) =m D =7
122, Which Is not a biotic factor 9
Al Plants (B  Animals (8] Micro-organisms D) Rocks,
Eicic e i I
&) Ty B = [€)  Hsrofs D) e |
123. Most plants are Present in
(A} lithosphere (B hydrosphere
[C]  atmosphers D} photosphere,
Al T2 g = #
() FeEHE B) weHEm
IC) =z 4 D) WeEreHEE F
144, Animals that feed on other dead animnals are called
) parasites {B) decomposers
[C)  scavengers D) omnivores.
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125. CNG is the abbreviation of
{4  Clean Matural Gas Bl  Compressed Natural Gas
(C)  Carbonised Natural Gas (D)  Carburetted Natyural Gaas,
CNG Tifira &g #
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126. Which of the :'::rllm;dng international organizations looks afier environment prolectio
over the world 7

@ wwr (Bl WHO [C) PETA D) UN.
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127.

128.

129.

130.

Too much use of insecticides will cause

(4  air pollution (B} nolse pollution
() water pollution (D) all of these.
el ¥ et g § g
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A salt which absorbs water is called

(4  hygropcopic salt [B) anhydrous salt
(€} hydrophilic salt (D]  hydrophobie salt.
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The term used for the conservation of ecosystems and natural habitats and the
maintenance and recovery of viable populations of species in their natural
surroundings is

() Core conservation [B) In slfu conservation

(C} Ex situconservation i Peripheral conservation.
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Ses turtles are called living fossils for they have been on the earth in their present
form for over 150 million years. Of the five species of zea turtles found in the waters
of the Indian subcontinent, which is the most populous species ?

(8] Keneps Ridley (Bl Loggerhead

[C) Olive Ridley (D) Flatback.
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131,

132.

133,

134,

135.

136.

Which of the [ollowing leads to global warming ?

(W Water pollution (B)  Soil pollution

(€] Air pollution D] Noise pollution.

= 4 A #F fava serA s & 2

W T e B)  ¥=1 wgEm
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Oceans cover most of the earth’s surface. which is approximately

w3 ® . © 3 o 3.
WEHTH yesl g2 F iuwtn e Avgw Geo € S § e :

w 2 ® © o 2.
Stalactites and stalagmites consist of deposits of

) sillea @ magnesium carbonate

[C)]  calcium carbonate D) sodium carbonate,
e T e § e dm @
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(C)  Ffrra FmEte = ) wifsgm wEe =

Which of the following is an example of air pollution

i) Smcke and fog (B) Exhaust gas from cars

) Cases from burning wood or charcoal () All of these.
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The law lo prevent pollution in India and many other countries prevents the use of

A paper bags (Bl plastic bags
iC}  nylon bags (0} leather bags,

TR e T A W A B o e R o v e €
CYIC v o B wnfies & &5

[C) e & e D] =9% % & 4
Which of the following causes global warming 7 .

(&) Gases from cars (B) Gases [rom trees
(€} Hetarr from oven @} Cooking gas.
Fﬁﬂmﬂsfmﬁqﬁﬂaﬂqwm% ?
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137.

138.

139,

140,

141.

142,

143,

What are metal bearing rocks called 7

(A Bitumen [E) Bauxite ] Metalloids D Ores.
e werR R wm am # 2

i TEEfm (B) =R () AeErEE (D] FE |
Trees reduce pollution because they absorb

) sulphur dioxide B] carbon dioxide

(C) - carbon monoxide (D} nitrogen.

Tz wgEw = wed ¥ wifw 3 s w8

[A) TEE SHAEERS (B) FTET SHHAEELE
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Earthquakes are measured (n

) Beaufort scale (B) decibel

()~ newion (R)- Richler scale,

sERF I e ¥

(4) ErEE g (B ExtamH
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Rise in water level in oceans is due to

(A}  melting of ice in pelar reglon (B excess rainfall

(C] acld rain (0 none of these.

aErEnl A gis w1 wne

W) e wEw o ad e (B) Weatw =i

) e =i (D) T # FE T )

The pereentage of oxygen present in air is approximaltely

) 24450 B 23% [y 40% D] 21%.
e § gufeem st o wfaem ¥ wmm _

W 4% B 23% () 40% D) 21%.
Which is the absolute lemperatlure scale ?

4y Celsius [B) Fahrenheil (C) Kelvin (] Al of these,
T AN T S - 7 _
() e (B) TR (e L T #
Photosynthesis is carried out by

(4  all plants (B all animals and plants

IC)  all green plants (D) wiruses.
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144,

145.

146.

147,

148,

149,

50,

Noise or noise pollution 1s measured in

(&)  phen (B dect (C)  decibel (D) decimal.
v W e s o o .

w wHE B © EEa (D) Eww )
Which of the following is harmful for the environment ?

(Al Paper (B Clothes ) Meral (D}  Plastic,
= 4 | F17 wafaw & fore wifswmer & 2

Ay == (B) =wT=n 1y () wfEs
The most harmful sulphur containing gas in the atmosphera is

A s B H,S I SF, D) s0..
A H i e aeet fafag ¥

W 8 8 H,s Q) SFE (D) 50,
Air pellution i1s reduced by

[&)  trees iB) fishes (C) animals @ sunlight.
T WEEW Ft FH o w owwa &

() g&f gm (B) wfer g €} =gt gm (D) &4 v g
World Environment Day is celebrated on

{4)  5th November (B) 5th.January

iC] 5ih June (D) 5th September.
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Which layer protects earth from harmful rays of the sun ?

(A}  lonosphere Bl O=zone layer

[C) Troposphere (D}  Magnetosphere,
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Flora and fauna of a place indicate

(Al plants and animals [B) fshes and plants

(C} animals and fishes )  birds and plants.
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